Exercise (Week 12)
November 24, 2023

L HEZA VePeh3i B8 STE St ={veV:(v,w)=0,YweES}. B& S, * 5 V &
subset.

(a) # SCV,#m St 5 V - i subspace.

(b) #m S+ :Span( )

(c) #mM SC (S, & &t mp Span(S) C (SH)*L.

(d) 3% S) C S, #M Sy CSl

(e) #M (S;USY)L =SNS5

(f) M (S1NS)T DSt +85, & & R2 + ¥ - 4xehp 4 (dot product) 35 S1,5,
# 8 (S1NSy) Lt # ST +S5 tht)+ (hint © 4 & Span(S)) = Span(Sy) i) -

2. B3 Vvi,...,V, & V &= % orthonormal basis.

(a) BRuweV ® u=aqvi+---+ayv, £ W=bVi+---+b,v,. 7&M

n
(w,w) =ajby+---+ayb, = Z(u,v»(w,v,-).
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> W=Span(vy,...,vx) £7 I <k<n HEZZ veV, &P
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v 7> Y (v.vi)?,
i=1

TR FIEE VvEW.
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R* ¢ ¥ & dot product. 4 W:span((z,—l,—2,4),(—2,1,—5,5),(—1,3,7,11))

(a) F1* Gram Schmidt Process 45 3| W 1} ¢ orthonormal basis, ¥ #-2_ 3+ =
R* &— % orthonormal basis o &}t 8 T WL e1— % basis.

(b) g‘#ﬂé-v:(—ll,&—4,18) B v=utw> 2P ueWt weW ¥ RvAufi
W 122 WL ¢ orthogonal projection.

48 P(R) 1 0 inner product & %

(f,8) =f(1)g(1)+ f(0)g(0)+ f(—1)g(—1), Vf,g € AA(R).

(a) f“é’r P(R) + x%,1,x i& % basis, ﬂ}] *  Gram-Schmidt Process 35 "J P,(R) F e
- % orthonormal basis (3% P& x 2l x ER > U BT — o[ 4E) o

(b) Eé:‘f‘» (x+1)? % Span(x?,1) _t 5 orthogonal projection.



